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oy b, If 6 students have an average
(arithmetic mean) score of 88 on an exam,
and one of those students scored a 93 on
the exam, what is the average score on this

exam for the other 5 students ?

) 84 ) 85
%) 86 q) 87
s Tex: ) 87

Live MCQ AnalyticsTM:ﬂ@?? Teamrel: 28%, ©F SGaWSl: 7%,
Ted FEA: 63%

JRM: Question: If 6 students have an
average (arithmetic mean) score of 88 on an
exam, and one of those students scored a 93
on the exam, what is the average score on

this exam for the other 5 students ?

Solution:

6 & PERTE 9T 999 = 88

6 & RS (NG 799 = 88 x 6 = 528

5 & PRI (NG 799 = 528 - 93 = 435

5 & *rFISE 98 979 = 435/5= 87

&Y . If isosceles ADEF has sides of length
11.5 and 13.7, which of the following could
be the perimeter of the triangle ?

JF) 2.1 ) 12.0
) 25.2 9) 36.7
o< Tea: ) 36.7

Live MCQ Analytics™: HoF Tearel: 16%, T SGMIST: 6%,
e IEA: 77%

JIPT: Question: If isosceles ADEF has sides of
length 11.5 and 13.7, which of the following

could be the perimeter of the triangle ?

Solution:
D
11 115
F
E 13.7
ADEF €

DE = DF = 11. 5

ADEF @3 #AfGAN = 115 + 11.5 + 13.7 = 36.7
RISIER

DE = DF = 13.7

ADEF @ #ff@3S1 = 11.5 + 13.7 + 13.7 = 38.9 A
T (72 |

oy AoE Ted T 36.7

&y ©. The base of a triangle is twice its
height, which is 5cm. What is the area, in

square centimeters, of the triangle?

JF) 6.25 ¥) 10
) 12.5 q) 25
s Tex: F) 6.25
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AT Question: The base of a triangle is
twice its height, which is 5cm. What is the
area, in square centimeters, of the triangle?
Solution:

fagres §&I =5cm

f@gted ©wef =5/2 = 2.5 cm

fagte cFaswa = (1/2) x 5 x 2.5 = (1/2) x
125 = 6.25 cm’
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o 8. A car go 33 miles per gallon using
gasoline that cost $2.95 per gallon.
Approximately what was the cost, in dollars,
of the gasoline used in driving the car 350

miles ?

JF) $10 ) $31
) $40 9) $50
e TeR: 9) $31

Live MCQ Analytics™: 5% Seamrer: 18%, gl
TEAMSL: 3%, TGd FEAE: 77%

YL Question: A car go 33 miles per gallon
using gasoline that cost $2.95 per gallon.
Approximately what was the cost, in dollars,
of the gasoline used in driving the car 350
miles ?

Solution:

MEBR 33 MET @A 4T =W = $ 2.95

Nefoa 1 I @S 4 27 = § 2.95/33

NfeBa 1 W3 @ 4F6 W = § (2.95 x
350)/33 = $31.287 = $31

&Y ¢. On her way home from shopping,
Monika must travel due south for 5 miles
and then due east for another 12 miles to
reach her house. If she could travel in
straight line from the store to her house,

how many fewer miles would she travel ?

JF) 1 Q) 4
€ 8 q) 13
FHféF Tea: Q) 4

Live MCQ Analytics™: 3% Seamret: 16%,
el Ceanel: 6%, 6 LA 76%

I Question: On her way home from
shopping, Monika must travel due south for
5 miles and then due east for another 12
miles to reach her house. If she could travel
in straight line from the store to her house,

how many fewer miles would she travel ?

A
13

12

AL A (ACF T ¢ @ AR 799 AC
AC =\(5°+ 12°)

= V(25 + 144)

= 169

=13

W VY SO FHCO A = (17 - 13)miles =
4 miles

&y v, Two ships are sailing in the sea on
the two sides of a lighthouse. The angles of
elevation of the top of the lighthouse as
observed from the two ships are 30° and
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45° respectively. If the lighthouse is 100m
high, the distance between the two ships is

<) 173m

<) 200m
%) 273m ) 300m
fde Tex: ) 273m

Live MCQ AnalyticsTM:‘fiﬁ?F Tequrel: 6%, T
TGAAIST: 5%, TET FCAI: 88%

I 42 2% 72 PR Y AT FAA T
T TS Live MCQ @* TH5e P |

&Y Q. A certain jar contains 60 jellybeans 22
white, 18 green, 11 yellow, 5 red and 4
purple. If a jellybeans is to be chosen at
random, what is the probability that the

jellybean will be neither red nor purple ?

<) 0.09 <) 0.85
) 0.54 q) 0.91
3 Te=: ¥) 0.85

Live MCQ Analytics™: Af5& S@awret: 14%,
T Teaurel: 4%, ©6d FE: 81%
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&Y v. The radius of circle A is r, and the
radius of circle B is 3r/4 . What is the ratio
of the area of circle A to the area of circle
B?

F) 16 to 9 ¥) 9 to 16
M) 1to4 q) 4 to 3
fde T\: ) 16 to 9

Live MCQ Analytics™: 5f5< Teawretl: 18%,
e TGawel: 7%, $GF P 74%

Yt 9T 2% 72 PEF Y AT WRATE
JIT FIC® Live MCQ @UI% 33757 ey 1

o 5. 5a°-4a-3 - 3%+ a+ 4) = 0. What is

the sum of the possible value of a ?

) 3 q) 3.5
) 4 q) 4.5
fo% Tew: ) 3.5

Live MCQ Analytics™: 5% Teamret: 10%,
T Teanel: 6%, $6 ICAAI: 82%

WY 92T 9% 7R PEF Y AHT AT
T AT Live MCQ @™ 337567 5o |

¥ do. Two sides of a triangle are 7 and 16.
Which of the following is not the length of
the third side ?

JF) 22 Q) 17
M 12 q) 9
e Bew: 9) 9

Live MCQ Analytics™: 7f5% S@awrst: 22%,
el Teanel; 9%, 6 ICATI: 68%
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¥ 3. Q. 11 - 13 : Fill in the blanks.

11. A good trial lawyer will argue only what
is central to an issue, eliminating _____
information or anything else that might
_____ the client.

JF) seminal, amuse

) erratic, enhance

) extraneous, jeopardize

¥) prodigious, extol

o Tex: ) extraneous, jeopardize

Live MCQ Analytics™: 7f5% S@awret: 19%,
e TEaWrel: 8%, € FAA: 72%

T 9T % 72 P Y ACAT AP
T RIS Live MCQ @i* 237567 F5oe |

2% 3. We waited patiently for the storm to
refused to

slacken, but it
) persistently, strengthen

<) stoutly, abate

) consistently, perambulate

¥) wanly, sublimate

S Tex: <) stoutly, abate

Live MCQ Analytics™: 7f5% S@awret: 12%,
T Teanel: 15%, ©ed FEA: 72%
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o b9, Giving preference to his brother's

son for that office smacks of to me.

) nihilism
%) sycophancy ¥) nepotism

Ffé<F TG 9) nepotism

Live MCQ Analytics™: 5f5% Seamret: 24%,
O TGSl 6%, ©6d FE: 68%

T 92 9% 7T FET Y AHT AT
JIYT CTICE Live MCQ @ TH5e Fee |
&¥ 38. Change the voice of the sentence.

¥) chauvinism

She will invite me.

<) I shall be invited by her

) I will been invited by her

) 1 shall being invited by her

9) 1 will invited by her

(8% ©G: F) I shall be invited by her
Live MCQ Analytics™:

WY 92 9% 7T PEF Y AeHT AT
FIT FIAC® Live MCQ @UI% 33757 e 1
¥ 3¢. Antonym of DUCTILE is :

<) Docile ¥) Pliable
) Stiff 9) Supple
o< Taw: ) Stiff

Live MCQ Analytics™: Af5& S@awret: 13%,
e Teqwel: 13%, ©6d ICEA: 73%

I 92 &% 7T PR @AY AT WRAE
FIT FIAC® Live MCQ @I% 33757 e 1
o V. Synonym of INCREDULOUS IS :
<) Dishonest ¥) Honest

%) Reliable ¥) Unreliable

T T q) Unreliable

Live MCQ Analytics™: 5f5< Teawretl: 22%,
e GeanIel: 15%, $6d FCAA: 61%
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English Wizard

Grammar - English Wizard

Grammar
A Comelete & Excusive Solusion

&y 34. Find the correctly spelt word

) Affedevit ¥) Afidevit

%) Affidevit q) Affidavit

Mo e ¥) Affidavit

Live MCQ Analytics™: Af5& S@awret: 30%,
9% TeanTel: 19%, BEF FAN: 49%
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&4 Sb. Q. 18 - 20 Choose the correct form
of sentences.

18. If there was any truth to recent findings,

Inactivity is as deadly than smoking.

<) There was any truth to recent findings,
inactivity is as deadly than.

) There was any truth to recent findings,
inactivity is as deadly as.

) There's been any truth to recent
findings, inactivity is as deadly as.

¥) There is any truth to recent findings,
inactivity is as deadly as.

8<% ©@T: ¥) There is any truth to recent
findings, inactivity is as deadly as.

Live MCQ Analytics™: o< Teamret: 12%,
e SEAMTel: 12%, ©GH FCAA: 74%

WY 92 &% 7T PEF Y AT AT
T TR Live MCQ @™ 237567 5o /
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¥ 35. A majority of society argues that

neither technology nor genetics is to blame

for rampant childhood obesity in society.
) Argues that neither technology nor
genetics are to.

) Argue that neither technology nor
genetics are to.

) Argue that they cannot look at
technology or genetics as the.

¥) Argues that not technology or genetics is
to.

73 & F) Argues that neither technology
nor genetics are to.

Live MCQ Analytics™: 3% Teamret: 7%, o
TEAMST: 17%, TEF FCA: 74%

TGL: 92 2% 72 PP Y AT GeANF
T FIC® Live MCQ @UI% 337567 e |

&Y 0. Growing economic woes and
competition could be pushing accountants

to finagle their clients' records; accountants

can, for example help their frustrated clients

write off certain luxurious purchases and
justify them as business expenses.

J) Clients' records; accountants can, for
example, help.

) Clients' records, as an example, they can
help.

?) Clients' records, like they can help.

¥) Clients' records; which might include that
they.

Hfde Tex: <) Clients' records; accountants
can, for example, help.

Live MCQ Analytics™: 6% S@awret: 3%, T
TeAMISl: 10%, ©€F FCIA: 86%

Y 9T 2% 7T FEF 7Y LT WRATE
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¥ . Louver art gallery is located in
<) Germany ¥) France
%) England

3 Taa: ¥) France
Live MCQ Analytics™: 5% Teamret: 40%,
T Teanel; 7%, 6 LA 51%
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¥ R, Chile has a long seashore along

<) Atlantic Sea ¥) Black Sea

%) Mediterranean Sea q) Pacific Ocean
{9 @K 9) Pacific Ocean

Live MCQ Analytics™: 5f3% Teamret: 22%,
TH TEAMISl: 19%, OB BFCA: 58%

T 9T % 3T P Y ACAT AP
T FIC Live MCQ Q% 5 Poey |

2 Q0. 'Forint' is the currency of which

¥) Belgium

country ?
<) Hungary ) Haiti
%) Argentina <) Myanmar

Ffé% B&x: ) Hungary

Live MCQ Analytics™: 7f3< Teamrel: 13%,
el Teanel: 13%, T@d FEA: 72%

T 9T &% 37T P Y AT RN
T RIS Live MCQ @i* 237567 5o |
&Y 8. What type of computers are client
computers (most of the time) in a client-
server system ?

F) Mainframe %) Microcomputer
%) Mini-computer ~ ¥) PDA

wfde Tex: ¥) Microcomputer

Live MCQ Analytics™: 7f5% S@awretl: 14%,
TF TGAMISl: 20%, OB ICAA: 65%
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¥ ¢. Federal Reserve system is the

central bank of

<) UK <) USA
%) Germany ¥) France
e TeR: <) Usa

Live MCQ Analytics™: 7f5% Teamrel: 44%,
T TEael: 8%, $&A FCA: 47%
[ 93 2% T FEF Y ATET GNP
T FAC® Live MCQ @I% 33757 e 1
L & BF
W T T AR
—

.-
Live MCQ

i wFae -

2% Y, How much is the current foreign

exchange reserve of Bangladesh?

) $24,000 million  ¥) $42,973 million

) $39,185 million  ¥) $36,816 million

Live MCQ Analytics™: 3% Teawret: 0%, o1
T@AMrSl: 0%, T&d FCAF: 0%

IR 9T 2% 7T PR A AHT WRAP
JIT FAC® Live MCQ @I% 33757 5o 1

& 4. The headquarter of Apple, Known as
Apple Park, is located in

) California ¥) New York

) Washington q) Toronto

#f$e ©e=: ¥) California

Live MCQ Analytics™: 5f5< TGawrel: 36%,
O Teanel: 15%, ©@F FEA: 47%

I 9T 2% 7T PR 7Y AHT LA
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2 . Joe Biden on 20 January 2021

become the ______ president of the United
States.

F) 45" ) 47"

o) 46" ) 48"

A e o) 46"

Live MCQ Analytics™: Af6& S@awret: 37%,
el SGISl: 15%, ©&F ICA: 47%

TR 92 2% 72 PR Y AT G
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2y . According to Pfizer pharmaceutical

company, its Covid-19 vaccine has efficacy

rate of

F) 95% <) 91.3%
) 80% 9) 85%
e Tew: ) 95%

Live MCQ Analytics™: 3% Teamret: 13%,
T Teanel: 17%, ©@d FEA: 69%

IR G2 & 7T PP A LT GRAE
T RIS Live MCQ @i* 237567 5o |

¥ 9o, 2023 ICC World Cup Cricket will be
held in

) Australia

%) England

Ffé% Bex: ¥) India
Live MCQ Analytics™: Af5& S@awret: 48%,
e TGaulel: 8%, ©GH FCAAI: 43%

Yt 9T 2% 7T PEF Y AHT GRATE
T RIS Live MCQ @i* 237567 3o |

¥) South Africa
9) India

Warnning: Live MCQ™ -4% 7% FT5°6 A5 T34 9141 TAMFS | Aeafe s @l T4 GF J97 WELd 897 ¢ FEa3 wo]

Join Now p

P> Google Play

oy [ rayees (@ livemco.com 9 01701377322


https://livemcq.com/link/home
https://web.livemcq.com/blog/banglabid-byakoron-book-by-mehedi-drubo/

